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QUESTION 1

In which situation is HPE 3PAR StoreServ thin provisioning appropriate and beneficial? 

A. an Oracle database trial uses redo log files 

B. 12 hour security-loop recording 

C. an Exchange database in a hospital imaging storage system 

D. a large document management system 

Correct Answer: D 

 

QUESTION 2

Which SAN topologies offer the highest centralized data access performance? {Select two.) 

A. single switch 

B. cascaded 

C. meshed 

D. ring 

E. core-edge 

Correct Answer: BE 

 

QUESTION 3

You are designing a new SAN fabric for a customer who requires a high performance and port-efficient network with
many-to-marry connectivity. Which type of SAN topology should you recommend? 

A. core-edge fabric 

B. cascaded fabric 

C. meshed fabric 

D. single-switch fabric 

Correct Answer: C 

 

QUESTION 4

A customer adds two new SFF 8000 enclosures that are fully populated with Nearline drives to an existing HPE 3PAR
StoreServ 8400 array. The old configuration consisted of Fast Class and Nearline SAS drives in me 8000 SFF



enclosure. What should the customer\\'s engineer do to optimize then storage configuration? 

A. Run checkhealth on their system. 

B. Defrag the CPGs and run align-drive on their system. 

C. Run tune sys on their system. 

D. Run compactcpg for existing virtual volumes. 

Correct Answer: C 

 

QUESTION 5

You are adding an HPE 3PAR StoreServ to HPE One View in a demo environment. HPE OneView tails to import any
HPE 3PAR StoreServ domains. How should you verify that HPE OneView can connect to the storage? 

A. Use RESTful API to enable HPE OneView connectivity. 

B. Restart WSAPI on the storage CLI. 

C. Install me WBEM provider to the SSMC server. 

D. Create a host object for HPE OneView m SSMC. 

Correct Answer: A 

 

QUESTION 6

Which management interlace uses four basic commands (create, read, update, and delete) to enable administrators
define and radically simplify the most complex management processes? 

A. WMI 

B. WBEN 

C. REST API 

D. SMI-S 

Correct Answer: C 

 

QUESTION 7

A customer has a Microsoft application environment that uses HPE StoreServ arrays. The customer wants to simplify
the process to back up the application data and implement rapid online recovery of the applications, however, the
customer cannot accomplish this from the StoreServ Management Console (SSMC). 

What must be added to the solution for the customer to accomplish this? (Select two.) 

A. Application Suite for Data Protection 



B. Recovery Manager 

C. Advanced Shadow Copy Services for Windows Servers 

D. Virtual Copy 

E. VSS provider for HPE 3PAR StoreServ 

Correct Answer: BD 

 

QUESTION 8

Where does HPE 3PAR StoreServ Data at Rest Encryption occur? 

A. ASIC 

B. host 

C. physical disk 

D. StoreServ processor 

Correct Answer: C 

 

QUESTION 9

You design a new HPE 3PAR StoreServ solution that will be integrated with existing c- Class blade enclosures that
have flat SAN technology. Which solution component should you discuss with the company CFO? 

A. HPE teasing program 

B. I/O performance metrics 

C. advantages of Proactive Care Advanced over Proactive Care 

D. benefits of removing me edge-core architecture 

Correct Answer: A 

 

QUESTION 10

How does HPE Converged Storage simplify management? 

A. It eliminates configuration through the use of auto-discovery. 

B. It incorporates business needs into the design. 

C. It provides a common CL1 translator for all HPE Storage families. 

D. It provides a single pane of glass for all HPE Storage products. 



Correct Answer: D 

 

QUESTION 11

Which protocols are currently used by SSD and HDD to interface with host systems? (Select two.) 

A. FCoE 

B. FCIP 

C. iSCSI 

D. SATA 

E. SAS 

Correct Answer: DE 

 

QUESTION 12

When preparing a business case for a storage solution, which element calculates the time it takes to offset the IT
investment through increased revenues or reduced costs? 

A. OPEX 

B. ROI 

C. CAPEX 

D. TCO 

Correct Answer: B 
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